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Ch. 2 Take-home part Name: : W

Double check your solutions! Turn this in before class starts
tomorrow morning. You are not allowed to work together or
collaborate on this! You are encouraged to use a calculator on

this part, but Show All of Your Work.

1. (1 point) Use a calculator to find the exact value of cos™%(0.23) in
degrees. Round your answer to two decimal places . 6
1, 3607

2. (1 point) Use a calculator to find the exact value of sin™*(0.11) in
degrees. Round your answer to two decimal places c.3 2°
2. 92>

3. (1 point) Use a calculator to find the exact value of tan™'(0.57) in
degrees. Round your answer to two decimal places 4 e
| 5 29.¢8

4. (1 point) Use a calculator to find the exact value of sec™(5.2) in de-
grees. Round your answer to two decimal places

— CGS;l(%’1> 4. 7891 g0

—

5. (1 point) Use a calculator to find the exact value of kcsc‘1(3.23) in
degrees. Round your answer to two decimal places o e
5. 18,63

6. (1 point) Use a caleulator to find the exact value of cot™(0.35) in
degrees. Round your answer to two decimal places o
6. 701

7. (1 point) Use a calculator to find the exact value of cot™'(—9.2) in
degrees. Round your answer to two decimal places ] n®
7. LL 7 § ° XO



8. (6 points) Use the given information to solve the right
10, and A =40°. Find b,a and B

7
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10 fia 5o° = |5 = 1.7

9. (6 points) Use the given information to solve the right tria
and b = 8. Find ¢, A and B.
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10. (4 points) Solve the equation on the interval [0,27)

sin(6) = —024 {I(B.ﬂaz
sm“‘(’o'“) =-13.89 1o _346. i
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11. (4 points) Solve the equation on the interval [0, 27

| g’aé
cos(f) = —0.31 { 10 25'1 9‘f
11!

0= cos (031) = .06°
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Dowuble check your solutions! Use Algebraic Notation AND
Show All of Your Work. No Assistance or Collaboration! You
may not leave to use the restroom. No Calculator part.

12. (6 points) Show that f and g are inverses of each other by showing

that f(g(z)) = 2 and ¢(f(z)) = z. Assume f(z) = 25_:—23 and
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13. (5 points) The graph of a function f is given below. Use the horizontal
line test to determine whether f is one-to-one. Is the function one-to-

¥

14. (3 points) Find the exact value of sin™* (Sin %71)

O = E’:;-E s hot YV ’\’kﬂ» “6\'\39. o’< w;mu

iw&’\‘lk‘\ )

Sy
S‘\f\';

)

g
-—

—
—

I
4.3

S'm" V<- J—E—:)

T

— e

3

15. (3 points) Find the exact value of tan (tan“1(0)>
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17. (3 points) Find the exact value of sin™ (———)
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18. (4 points) Find the exact value of cos[tan“l(—él)}
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16. Assume f(z) = —2cos(4z) for domain 0 < z < % for parts a through
d below.

‘(a) (2 points)  Find the inverse function, f~! of the functi
fined above. -

Y= -'1605 (u,x) v
Y = ’2“’%’“}) n,'b — Qas‘*‘('%:)

‘ y
X = COS(@‘I)) A‘“d?, l’j‘?‘ q‘n‘l(g:%“g (’“k{"‘)

-2

—’;'X' = COS(L{D)
(b = e (cosliy) )

- C 2}
(b) (2 points) _ Find the range of f. (b) i

V) - ~2405\‘l2(
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(c) ‘(1 point)  Find the domain of f~1. E’l l’] (c) m
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(d) (1 point)  Find the range of f~ — ] ) — M
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19. (3 points) Find the exact value of sec™(—2)

Sece‘(- 1} : COS"(" ‘T>

117

20. (4 points) Find the exact value of cos™! [sin (T)}
' 2
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22. (6 points) Solve the equation on the interval [0, 27)
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23. (6 points) Solve the equation on the interval [0, 27)

25in?(0) — sin(d) —1 =0
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